9.5 Logarithmic Equations With a Calculator Name

Solve each equation for x. You may use a calculator on #4-21, but you must show
all work before using a calculator. Round your answer to the nearest thousandth.

1. 10gy(logy(log,16)) = x 2. log(loga(l0gs9)) = X

| 0

10. Inx=7 11. Inx=+/3
040.03%  65-0H52
13. 3¢ +2=7 14, 3¢ %+4=12

494

17. 3* =4~

5819

19. 6In(4x)-1=14

3.040b

20. 21n(x-2)+3=10

36.115

3. logs(logz(log,16)) = X

/2.
0.039

0. 045

12. Inx=-5

OOO?.

15. 2¢3 -2=4

3.290

18. Sx—] - 7x+2

-\.%50



